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UNIVERSITY OF NORTH BENGAL

B.Sc. Programme 4th Semester Examination, 2023

DSC1/2/3-P4-BOTANY

PLANT PHYSIOLOGY AND METABOLISM
Time Allotted: 2 Hours

GROUP-A / f{ei-3 / @vs-a
1. Answer any five questions from the following:
fesfeiie @-iw i5fe @ese T nies
ffeTRad g UlereT H2En Pl SR oI
(a) Name two C4-plants.

a6 C4 Sfera 919 @74
G3aCT C4 IfgE Pl 7 o |

(b) Why the water potential of a cell is always negative?
936 FICTF water potential HIZ AN 2T & ?
fo5T BT UTY &FTAT (water potential) T AAfee 0 ?

(¢) Name one micro and one macro nutrient.
@3 micro €3 @I macro nutrient-A3 W 4|

TICT HTSEh! X UICT RTEhT fqreeh! T o |
(d) What is critical day length?

Critical day length 7 ¢

HEcqqUi fa oFaTs (Critical day length) & 81 2

(e) Which enzyme reduces nitrate to nitrite?

(I S0P FIBLEOCE 1281200 [Renfe (7 9

T grolTgHel TZSCaTS ATSCISCHT BERS® (reduces) ?

(f) Name the cell organelles where photorespiration is accomplished.
CRFICHI-GERICaIe elf e <= (g «iIn e
ISR TG~ & PIRIBIHT 3T (cell organelle) T A o |

(g) What is Day-neutral plant?

Day-neutral Sfgn 5 9
Day-neutral 3fgg & & ?
(h) What is leghemoglobin?
Leghemoglobin & ¢
Leghemoglobin & & ?
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GROUP-B/ fqeiol-4/ @ueg

2. Answer any three questions from the following: 5x3=15
fasfeie @-iw foqfe @rw Teq nies
freTfeTRaT Pt dideT TeEvel TR oK
(a) Briefly describe the pressure flow model of translocation with diagram. 5

Translocation-99 Pressure flow model- 3Cwc~ foa s1egaicst figze wie )
Translocation @7 Pressure flow model <IE) NRGT(RehT TTT AT WHUHT gui TR ?

(b) What do you mean by ripening hormone? Write down its significance. 2+3
Ripening hormone f& ¢ 43 wleoRf @141
Ripening hormone & & ? T A&cd oId |

(c) Describe the role and deficiency symptoms of sulfur and phosphorus in plants. 2
Tfgnneg ARTFRIN @3 FHFAA-GF ] 43R Selqeries Soaiesie Sl 11
fSRAETERAHT AR X et IR fHeT X b feiUfe® (deficiency symptoms) aufd TR |

+2

l\)|»—
N|—

(d) Distinguish between competitive and non-competitive inhibition of enzyme. 5

aferifeETs ¢ seforiPonE s areaigr I Sased afeTseol AL iz F4)
Tfereeice I IR-IfcRaeT 31aRkTe g=aigH i 98 R |

(e) Schematically present C2 cycle. 5
C2 cycle-a3 @Rifoq 72EaNe I wie |
C2 cycle T8 TAEGY HYHT G0 R |

GROUP-C / f@etat-a / @us-

3. Answer any two questions from the following: 10x2 =20

faseie @-iw 715 elva Tex wiss
fer=ToTRETT Pt SEaCT THEwHDT ITN o

(a) Give a detailed account of Calvin cycle. 10
Calvin bte< [Fifae fage wie)
FTfeas Tgha! (Calvin cycle) ﬁ?‘cﬁ faa=or ﬁflﬁ?{ |

(b) What is denitrification? Briefly describe the Nitrogen assimilation in legume plants. 2+8
fomzfaRrs=a & ¢ P9 wier Sfgrme AiRGIes reiFaes H: Y Kegd nis)

‘Denitrification” & & ? Legume 3 33\14 ATECISH ST (assimilation) &
Ui TR |

(c) What is photoperiodism? Write a short note on phytochrome. How red and far red 2+4+4
light influences on photomorphogenesis?

Photo-periodism & ¢ Phytochrome T @6 Y Bt 71 Photomorphogenesis
2@ red @K far red light-93 &eI] el 231 9

‘Photoperiodism’” & & ? ‘Phytochrome’ AT BIET fEoquft oRg | &Y red ¥ far red
SileT PICTHITh o RIFHT THTd UTeS 2

(d) Discuss the physiological roles of Gibberellins in plants. 10

T TR <SR ewrQefe S T4
IfggewAT gibberellins CARNINIREY ‘ﬂf—l’cmﬁlﬁ TR |
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